Warm Up

Which of the following 1s the inverse of the matnx 2

L) ) - =
A 2 B3 o Y
e : 77
Det = G))- (36) Al \
= -%- % 24

= -3

Which system of equations would you use to represent the cash of these two newspaper classified rates?
® The “Daily Gleaner” has a flat rate of $18 plus 20¢ per word
® The “Times-Transcripilesaiatretegf $25 plus 10¢ per word
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BONUS!!

Determine g, b, and c so that the points (- 1 ,5),(2,-1),
and (3, 13) are on the graph of f(x) = ax’ + bx + c.

Y= 0x ‘»bx-\-c.
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Questions from Homework
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Questions from Homework
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Review Sheet
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